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P diloaall

Quiz 1 LAVl puadi dealpo  aljluiayl sHAi - 2046 - (1) aolc cLijia

Quiz 1 ;jLiAVl pyadi dealjo

atoall eljio (py yAlle (p jgnio _43902633 AT
SHAT - 2046 - (1) aole chijia quuljall jpdall

Quiz 1 JLiavl

o N10 185-/0/T¢ 0dyy i

o XL 1£8-/0/% alluy) pi

Jlasyl pi allall

daja5 go dypa 5 dlghall daa

Gilda 30 go ddrdr 5 gadiall cidgll

dapanll ablayldluwall ablayl  iliill jajc o

dajx 0.5 go daja 0.5 1 Jlguul
The distance between Taif and Jeddah is a vector quantity

lha @ 63110l dylayl

s @ daan dbl

dajy 0.5 go dajr 0.5 2 Jlguul

The y component of the vector ( 107 -9k )mis 19m

ha 4 :6331all dilayl
tha @& dauan dilal
dajy 0.5 go dajn 0.5 3 Jlguul

The temperature inside the fridge is a vector quantity

lha @ :6311all dlayl


https://lms.tu.edu.sa/webapps/blackboard/execute/courseMain?course_id=_169849_1
https://lms.tu.edu.sa/webapps/blackboard/content/listContent.jsp?course_id=_169849_1&content_id=_1066758_1&mode=reset
https://lms.tu.edu.sa/webapps/portal/execute/tabs/tabAction?tab_tab_group_id=_4_1
https://lms.tu.edu.sa/webapps/portal/execute/tabs/tabAction?tab_tab_group_id=_1_1
https://lms.tu.edu.sa/webapps/login/?action=logout

tha | :dalan dila)

=

dajy 0.5 go dajy 0.5 4 Jlgaull
In some cases the distance equals to the displacment

dlgn 8 :6331all dilayl

dlgn 4 dan dila]

dajy 0.5 go dayy 0.5 5 Jlguul
The width of classroom is vector quantity

ha @ 63110l dylayl

lha @ :dapn dila)
dajy 0.5 go dajy 0.5 6 Jlguull
The age of the Universe is a vector quantity

lha D 83310l dilayl

tha @ :dann dl)
dajy 0.5 go dajy 0.5 7 J1guull

The polar coordinates of a point are r = 10 m and 6 = 45°.

What are the Cartesian coordinates (x,y) of this point

x=7.07m,y=7.07m & :63aall dll
x=707m,y=707m & cdnndl]
daya 0.5 o dajy 0.5 8 Jlguull

A particle undergoes two consecutive displacements

A=(157-15)cm and B=(— 107+ 10/)cm



the magnitude of the resultant displacement is

7 O7cm ' :63210ll d.lbl:”
7.07cm @ Gwodbl
da)y 0.5 go dajy 0.5 9 Jlguull
.Express the vector u in terms of a,b,c
a
b
P
u
c
-a -b -c 7 :6axoll Al
-a-b -c % daan dl)
dajy 0.5 go dajy 0.5 10 J1guull

A particle undergoes three consecutive displacements
B=(107-10]+6Kcmand C=(107-10)cm

A=(ET+57+3Kcm,
the magnitude of the resultant displacement is

30.5cm . 63310l dilayl

30.5cm @ Gwedbl
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Quiz 1 JLiavl

o IT:01 18£:/V/1 oga pi

p IT:0Y 1£8+/V/1 alluy] pi

Jlosyl ai dllall

daja 5 go dajy 5 dlglaall daja

Gilda 30 go ddidy 2 gAdiall Cidgll
dapnll ablayl,dlwpell ablVl - ALl gaje ol
daja 0.5 go dajy 0.5 1 Jlguull

The vector A has an x component of Ay = 4.00 unitsand ay
component of Ay = 8.00 units. Find the magnitude of this vector

8.9 . :6320ll dilh VI
8.9 ' rdaan dily
dajy 0.5 go dajr 0.5 2 Jlguul

The vector A has an x component of Ay =-2.00 units and ay
component of Ay = 2.00 units. Find the magnitude of this vector

28 830l @ilayl

=

2.8 . daan dlby)

dajy 0.5 go dayy 0.5 3 Jlguul
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Your cat is running around the grass in your back yard. He undergoes
successive displacements 4 m south and 20.0 m west. What is the

his distance
24m @ 630l dilayl
24m & dpndll
dajy 0.5 go dajy 0.5 4 Jl1guull
.Express the vector u in terms of a,b,c
a
b
P
u
c
-a -b -c % 6330l by
-a - b - C v ] daan dila)
dajy 0.5 go dajy 0.5 5 Jlgudl

The velocity of a sports car is a scalar quantity

ha 4 :6331all dilayl
tha &

dajy 0.5 go dayy 0.5 6 Jlguull

Three displacements are A = 200 m, due south; B = 250 m, due
west; C = 150 m, 30.0° east of north. The following diagram

represent the adding R=A+B+C



algn @ 83310l dlayl

dlign 4 dan dila)

daya 0.5 go dajy 0.5 7 Jlguul

Vector A lies in the xy plane. Both of its components will be negative
if it points from the origin into the third quadrant

dlgn 9 :6310ll dilayl

dlgn £ daan dil)
daya 0.5 go dajy 0.5 8 Jlguull
The unit of mass in S.I. is gram

ha @ :83amall dilayl
lha @ :dann dila)
dajy 0.5 go dajx 0.5 9 Jlguull

The magnitude of vector A is 8 km, and the magnitude of B is 6 km.
The possible values for the magnitude of A+ Bis 2

algn @ 83310l d@layl

dlign 4 dan dila)
dajy 0.5 go dajy 0.5 10 J1guull
The width of classroom is vector quantity
ha 4 :6331all dilayl
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Quiz 1 JLiavl

Qo 1-XF 15£./0/%8 0dyy i

o 170 18£./0/%¢ allu] pi

Jlosyl ai dllall

dajy 5 o dajy 4.5 dlglaall daja

Gilda 30 (o dérdn 2 wadioll adgll

dapanll ablayldluwall ablayl  iliill jajc o

dajx 0.5 go daja 0.5 1 Jlguul

Your dog is running around the grass in your back yard. He
undergoes successive displacements 3.50 m south and 15.0 m
west. What is his distnace

18.5m @ :63all dlayl

18.5m ¢ ldanan dly|

-

daya 0.5 go dayr 0.5 2 Jlgudl

A particle undergoes two consecutive displacements
A=(15T-157cm and B=(- 107+ 10))cm

the magnitude of the resultant displacement is

7.07cm | 63310l dilayl

=
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7.07cm @ dpodbl

da)2 0.5 go daja 0 3 Jlguul

What is the z component of the vector ( 107+ QD}: ~ 30k )ym

30m @ ool dilayl

dajy 0.5 go dajy 0.5 4 J1guull

The magnitudes of two vectors A and B are A=8 unitsand B =6
units. Find the largest value possible for the magnitude of the
resultant vector R=A+B

14 . :632all dilh Vi
14 ' rdaan dily|
daya 0.5 o dajr 0.5 5 Jlguull

Three displacements are A = 30 m, due south; B = 40 m, due west; C
=15 m, 30.0° east of north. The following diagram represent the
adding R=C+B+A

dlgn 9 :63110ll dilayl

dign ©4 danan dila)

dajy 0.5 go dajx 0.5 6 Jlguull

The volume of water in a can is a vector quantity



Uha 2 63310l dilayl
tha :dagan dila)

=

daya 0.5 o dajr 0.5 7 Jlguull

A vector lying in the xy plane has components of opposite sign. The
vector must lie in the third quadrant

tha @ 83110l dilayl
LhA

| :daan dilal

daja 0.5 go dajy 0.5 8 Jlguull
The distance between Taif and Jeddah is a vector quantity

lha @ 63310l dylayl

tha @ daan dilal
dajy 0.5 go dajy 0.5 9 Jlguull
In some cases the distance equals to the displacment

dlgn 9 :63110ll dilayl

dign ©0 danan dila)

d1)2 0.5 o daya 0.5 10 Jlguull

Vector A lies in the xy plane. Both of its components will be negative
if it points from the origin into the third quadrant

dlgn 4 :6331all dilayl
dlgn L8 dan dilal
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Quiz 1 JLiavl

p IV 18£:/0/%8 0§\ pi

p IV 186:/0/%¢ alluyj| pi

Jlasyl ai allall

daja5 go dypa 5 dlghall daa

Gilda 30 go ddrdy 7 sadiall cidgll

dapanll ablayldluwall ablayl  iliill jajc o

dajx 0.5 go daja 0.5 1 Jlguul

The magnitudes of two vectors A and B are A =5 units and B = 2
units. The largest value possible for the resultant vector R=A+B

is 7

dlgn 9 :63110ll dilayl

dign L daan dila]

daya 0.5 go dayr 0.5 2 Jlgudl

The magnitude of vector A is 8 km, and the magnitude of B is 6 km.
The possible values for the magnitude of A+Bis 6

dlgn 4 :6331all dilayl

dign 9 dan dila)

da)y 0.5 go dajy 0.5 3 Jlguul
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The width of classroom is vector quantity
ha 4 :6331all dilayl
lha

da)y 0.5 go dajy 0.5 4 Jlgudl

The y component of the vector ( 107 -9k ) mis 19m
lha @ 83310l dlayl
lh4 :dan dilal
dayy 0.5 go dayr 0.5 5 Jlgudl

Three displacements are A = 200 m, due south; B = 250 m, due west; C =
150 m, 30.0° east of north. The following diagram represent the
adding R=B+A+C

% 8333001 dilayl

E B

:dauan dilal

dajy 0.5 go dajy 0.5 6 Jlguull
The length of bedroom is a scalar quantity

wlgn @ 633100l dlayl

dign B4 daan dila]

da)y 0.5 go dajr 0.5 7 Jlguull



The vector A has an x component of Ay =4.00 units and ay
component of Ay = 8.00 units. Find the magnitude of this vector

8.9 - :83310ll dilayl
89 ' :daan dila]
d3y2 0.5 go dajy 0.5 8 Jlguull

The vector A has an x component of Ay = 10.0 units and a 'y
component of Ay = 10.0 units. Find the direction of this vector

0 =45° % :63anall dilayl

0=45° @ :duan b

-

da)y 0.5 go dajy 0.5

9 Jlguull
Vector A is directed northward and vector B is directed

eastward. Which of the following vector addition diagrams best

representthe addition of vectors A and B and the subsequent

resultant?

D
' A S
: /

[ = -]

D 63310l dilayl

D . daan dily)

dajy 0.5 go dajy 0.5

10 J1guull



A particle undergoes three consecutive displacements
B=(1071-10j+6Kcmand C=(107-10)cm
A=GET+5]+3%cm,
the magnitude of the resultant displacement is

30.5cm - :6axall dilayl

-

30.5cm @ 2 wedbl

-
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Quiz 1 JLiavl

p IT:08 1£8:/V/1 oga pi

p IT:0V 186:/V/1 alluy] pi

Jlosyl ai dllall

daja 5 go dajy 5 dlglaall daja

Gilda 30 go ddidy 3 gAdiall cidgll
dapnll ablayl,dlwpell ablVl - ALl gaje ol
daja 0.5 go dajy 0.5 1 Jlguull

The vector A has an x component of Ay = 6.0 units. Find the Ay of y
compoenet if the resultant of the vector R = 10 unit

Ay=8 @ :daaalldlayl

Ay=8 v} :daan dila]
dajy 0.5 go dajy 0.5 2 Jl1guull

A point in the xy plane has Cartesian coordinates (4.00, -2.00)

m. Determine the polar coordinates (r, 6

r=4.4, 8=-26.5" @ :xall dbyl

r=4.4, 6=-26.5°  dann dll

=

dajy 0.5 go dajr 0.5 3 Jlguul
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The vector A has an x component of Ay = 5.00 units and ay
component of Ay = 5.00 units. Find the direction of this vector

0 = 45° % 16330l byl
0=45 @ dpandlbl
dajy 0.5 go dajy 0.5 4 J1guull

The vector A has an x component of Ay = 9.0 units. Find the Ay of y
compoenet if the resultant of the vector R = 12.73 unit

Ay =0 7 :63x0ll byl
Ay=9 @ dandb|
dajy 0.5 go dayy 0.5 5 Jlguul

The ratings of a TV show is a vector quantity

lha @ 83310l dilayl

lha @ :dapn dila)
dajy 0.5 go dajy 0.5 6 Jlguull
Vector quantity has no direction

lha D :83310ll dlayl

tha @ :dann dl)
dajy 0.5 go dajy 0.5 7 J1gual
We can adding scalar and vector quantity

lha @ 63300l dylayl

dajy 0.5 go dajy 0.5 8 Jlguul



The x compount of vector ( 107 - 9%k )m is 10m

dlgn 8 :6331all dilayl

dlgn 4 dan dila]

dajy 0.5 go dayy 0.5 9 Jlguul

Vector A lies in the third quadrant, its components will be negative

algn @ 833100l dlayl

dlgn 8 daan dl)

dajy 0.5 o dajn 0.5 10 Jlguull

Vector A lies in the xy plane. Both of its components will be negative
if it points from the origin into the second quadrant

Uha 2 63310l dilayl
tha :dagan dila)

AST p IT:0V:$9 188+ ,qua) 1M Cuaull

Gélgo


javascript:launch('/webapps/blackboard/content/listContent.jsp?content_id=_1066440_1&course_id=_169771_1&nolaunch_after_review=true');




